SwS Algebra 2/Geometry

Examination Two


Answer the following showing the path to solution. Include nouns and verbs and ly-words.

1. Describe how you would have to move in front of the CBR  (Motion Detector) to get this graph:
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2. If your car was going to cost 10 000 dollars and the car company said that they would loan you the money at 17.7 percent interest, compounded monthly. How long would it take to pay off the loan if you paid $127.77 a month? 


3. Calculate the Semester Grade for the student who makes 144 out of 210 on the final examination and the following Portfolio scores.


	
	1st Q Mid
	1st Quarter
	2nd Quarter

	Ongoing Analysis of Work
	1
	3
	3

	Curriculum Content Item I
	2
	1
	0

	Curriculum Content Item II
	3
	4
	3

	Curriculum Content Item III
	2
	1
	2

	Curriculum Content Item IV
	2
	3
	2

	Your Ability to Test
	2
	3
	2

	Journal
	2
	4
	3


4. Use the date of your birth in this format (December 24th as 1224) as the seed for the SWSAREAP program. Plot the points in Geometer’s SketchPad and the report the Area and Perimeter of the triangle.


5. Which of the three banks would create $22 000 000 closest to the year 2222? Explain when that bank would generate that amount.


6. Factor the following, using the three methods: 6x2-11x-10


7. Solve this linear equation using the three methods: 4c - 34 = 7c + 9.


8. Given 107 Dice with 21 sides, and Dead Numbers of 3, 5, 7, and 9. Do the following:

· Create a Model for the number of Live dice as they are tested each month.

· Make a Graph of the data.

· Determine the number of Live dice at the 9th Month.

· Tell how long it takes for 24 dice to die.

· Estimate the number of Months it takes for a third of the dice to become dead?

· Give the Month at which all the dice have died.

· When will number of dice be zero?


9. Give the exponential equation that models a cooling rate of 87% per second going from a temperature of 100 degrees Celsius to 27 degrees. Give the graph, and tell when the temperature would be 98.6 degrees Fahrenheit.


10. Give 4 Nice Fahrenheit to Celsius pairs in the table below.


	(F
	32
	 
	 
	 
	 

	(C
	0
	 
	 
	 
	 


11. Graph the following data and give a best-fit equation. Identify the location of the inflection point and explain how you found it.


	Trial 
	0
	1 
	2
	3
	4
	5
	6
	7
	8

	# Sick
	0
	1
	3
	6
	11
	14
	15
	15
	16


12. Identify one Curriculum Content Item that you have brushed up against several times this quarter and tell when and how you encountered it. What does it mean? Do you Understand it? Have you Mastered it?
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